Parts List ..x

B) SN L
A — S— & ¥ ¥ ]
Model: JC264DX 1$—=YY Aa—K 525032
JC264DXL

Q = ULEAETR

MARLIYAMA MFG. CO.,INC. 2020. 07.



HaTRODITERIZDINT

1.

o> 0 & 0N

D TEXDIEIE

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (X RI R D g TR E ZS RS,

MamlEwend THILMIESGR ] Z23HERATIZEL,
AHRRITEBRLIEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASAM—=UIZ Fig. XXSRBERRLTHYET . COXXKIFAFTAM—D
ELORHELESERLFET .

=P —
JC264DX

LA K, 1

JC264DXL

2. AR R 3

JC264DX/JC264DXL I >>>

B.OTIDT=R, U i 5

4. )AL RE = e 9

5. FvILA. IF7OU—F BRFZT i 11
JC264DX/1C264DXL

T == P 13






JC264DX
1. 4R



A:JC264DX B:JC264DXL

RIHEE HRES R B " =
1-1 364902 | JC264DX 1
1-2 817002 | 6 A& b (HWSW 4 M5X20
1-3 096042 | 6 A4 IV (+)WSW 1 M5X30
1-4 233768 | H3VFr—-A934T 1 5~ 9794
1-5 221474 | H39Fr-2 1
1-6 016405 | A'7YUY 1 #62007Z
1-7 013825 | CHh'4hA7 1 #30
1-8 233769 | 97VFNFLTMA 1 54XSP
1-9 014210 | CH'4hr7 1 S10
1-10 226792 | TUNYYY 1
1-11 219435 | KOYUNMhUIMA 1
1-12 236345 | V7T 1
1-13 226918 | ZAA'IVEMZ 1 14 ~ 16 4L
1-14 226988 | FAI%Y (+) 1 M5X18
1-15 012487 | 3% h'% 1 M5
1-16 126993 | 6 H9FYk 1 M5
1-17 228446 | NUNIWM)IThTY H34T 1 18 794
1-18 092561 | 6 HUF Wb (+)SW 6 M5X25
1-19 228089 | ¥ ¥r—-29z47 1 20 ~ 26 7914
1-20 234247 | 6 4K b 1 M8X8
1-21 092550 | 6 HYH Wk (H)SW 1 M5X25-7T
1-22 212986 | NE/RAA 1
1-23 219195 | NE/F'AB 1
1-24 215610 | 6 HUF I WSW 1 M8X22 t4')
1-25 222128 | ¥¥VFRIYNY 1
1-26 222129 | 4vEvry 1 5X20
1-27 089737 | 6 AU b 1 M5X12
1-28 220549 | F1943-) 1
1-29 242347 | %=L7L—b 1 JC264DX
1-30 231654 | nYv—4 1 ECO
1-31 236357 | nURNIL A ThA 1 £47)
1-32 236358 | nUNIL B YA 1 3
1-33 560622 | MA'LN =934T 1 34 7914
1-34 560182 | 381 1 1 -74
1-35 235749 | ARYMLIAY 1 810L 1/0 78
1-36 234549 | AV —+F1-T 1 660L
1-37 220533 | hehhrW R 9357 1
1-38 222821 | Y 3AAVAN-HZET 1 39 794
1-39 092561 | 6 HYK Wb (H)SW 2 M5X25
1-40 224693 | FY7— 10 1




JC264DXL
2.8 4K




A:JC264DX B:JC264DXL

RIHEE HRES R B " =
2-1 364903 | JC264DXL 1
2-2 817002 | 6 HYHK W+ (+)WSW 4 | M5X20
2-3 096042 | 6 HYFK L (HWSW 1 | M5X30
2-4 233768 | 97VFr—-A934T 1| 5~9744
2-5 221474 | H39Fr-2 1
2-6 016405 | A'7YUY 1 | #6200ZZ
2-7 013825 | Ch'4hr7 1 | #30
2-8 233769 | #7YFNILTMA 1 | 54XSP
2-9 014210 | Ch'4hA7 1| s10
2-10 226792 | TUNYYY 1
2-11 219435 | K OYUN1hUTIA 1
2-12 211736 | ®U44=%" B 1
2-13 211737 | N'UN 2
2-14 560724 | MJATLN =934T 1| 157294
2-15 560182 | 381 1] 3a9-74
2-16 236322 | ARYMLIAY 1 | 365L1/076.5
2-17 213548 | A —bF1-7 1 | 3t 10 200L
2-18 054691 | WYhTy 94T 1| 19794
2-19 089738 | 6 HY& b 1 | M5X15
2-20 228089 | ¥’ Yr—-AJ4T 1] 21 ~27794
2-21 234247 | 6 hYF Wb 1 | M8X8
2-22 092550 | 6 HYF Wb (+)SW 1 | M5X25-7T
2-23 212986 | NE/RAA 1
2-24 219195 | NE/WAB 1
2-25 215610 | 6 H4F I WSW 1 | M8X22 k4"
2-26 222128 | ¥XIFKRIYNY 1
2-27 222129 | 4vEvRy 1 | 5X20
2-28 089737 | 6 hY& Ik 1 | M5X12
2-29 220549 | F194v-Y 1
2-30 242351 | %—L7°L—F 1 | JC264DXL
2-31 231654 | nYv—4 1 | ECO
2-32 222059 | R OYUN=7 NN VAT 1| 3334744
2-33 126993 | 6 H9FYh 4 | M5
2-34 222142 | $A22Y° (HW 4 | M5X28
2-35 220533 | hehhH UM Y47 1
2-36 222821 | V'AYAVAN-YAT 1| 37794
2-37 092561 | 6 HYFK IV (+)SW 2 | M5X25
2-38 224693 | ¥Y77- 10 1




JC264DX/1C264DXL I >>>
3. 05200 —X, 2USH

16

¥ ~202052H
20204E7R ~

32020538 ~6H

— 44A

—4oA—| 46A

40A —

BRBESLHHY




A:JC264DX B:JC264DXL

RIHEE HRES R B " =
3-1 875453 | 1YYy 1 1 | EE261/37
3-2 273153 | YU 1 1
3-3 282330 | H'AHYH 1 1
3-4 261250 | 6 h9THYFK Wb WSW 4 4 | M5X20
3-5 282579 | {vvalL—4 1 1
3-6 267049 | H"ARyYb 1 1
3-7 269826 | $AI%Y (HWSW 2 2 | M5X25WSW
3-8 246656 | ¥757tv7") 1 1] 9~117294
3-9 246663 | h"ATYH 2 2
3-10 246662 | TALAV7Y-} 1 1
3-11 246731 | 6 h9TFY¥HK LE WSW 4 4 | M4X10
3-12 266402 | 6 h9THYFE L WSW 2 2 | M5X55
3-13 247074 | B ArYb 1 1
3-14 246083 | 7UH —hin— 1 1
3-15 269827 | $A2%Y (H)WSW 1 1 | M5X16
3-16 247230 | bY7hiN=3U77)=F 1 1
3-17 563151 | 2911 1 1 | M6X15
3-18 261878 | T9b 1 1
3-19 280144 | 4vEV2y (4) 1 1 | 4X16
3-20 273673 | H3V9-2 1 1
3-21 280488 | A'TYUY 2 2 | PPL 6001
3-22 261492 | #4LY—I 1 1 | 1SCD12287
3-23 261386 | A4V 1 1 | ISCD12227
3-24 055185 | C H'4kA" 1 1| H28
3-25 261612 | 6 h9T7FY%HK LE WSW 3 3 | M5X30
3-26 273155 | E'AbY 1 1
3-27 261496 | E°AMVYVY 2 2
3-28 261497 | E'AUETY 1 1
3-29 261037 | ==FAATYUY 1 1
3-30 261576 | #=4v7° 2 2
3-31 277939 | H7v9v% 783077 —} 1 1
3-32 269168 | ¥7VF7tV77 1 1| 3334744
3-33 269169 | 49797V 2 2
3-34 269173 | A7y 1 1
3-35 269647 | 97VFK Vb 2 2
3-36 269175 | 7Y% 2 2 | 6.1X15X1.6
3-37 261777 | 9I-7"79v% 2 2
3-38 283386 | 77UhN - 1 1
3-39 269831 | $AI%Y" (HWSW 4 4 | M5X20WSW
3-40 274927 | X727 HYTY) 1 1| ~20205F2H 202057 A~
3-41 283397 | O-4 1 1 | 43~4879L ~ 202042 8 2020457 A~
3-42 283165 | 44 =993va{LT+Y7") 1 1| ~20205 21 202057 A~
3-43 283267 | 34l 1 1 | 4546794 ~ 20204 2 H 202047 B~
3-44 283268 | 1-N7tY77) 1 1| ~20205 218 202057 A~
3-45 283178 | 7739 %%V7° 1 1| ~20205 28 20207 A~




JC264DX/1C264DXL I >>>
3. 05200 —X, 2USH

16

¥ ~202052H
20204E7R ~

32020538 ~6H

— 44A

—4oA—| 46A

40A —

BRBESLHHY




A:JC264DX B:JC264DXL

RIHEE HRES R B " =
3-46 272805 | 799 1 1| ~20205F2H8 202078~
3-47 283271 | ¥¥v7° 1 1| ~202052H 202057 A~
3-48 283272 | ¥1-7° 1 1
3-49 261076 | nUr"Y%— 1 1
3-50 261417 | #5340 2Y%+Vb 1 1] M8
3-51 280381 | AA—% 2 2
3-52 261256 | 6 h9T7FTYFHK L WSW 2 2 | M4X25
3-53 286739 | AN-9759" 1 1| cJsY
3-54 269722 | Y-V 1 1| ~202056F2H8 202078~
3-55 282880 | I)-M 1 1
3-56 264588 | Y797 1 1
3-57 269705 | AL 1 IRE VPR ELWVEY
3-58 274191 | A0 1 1| a9tyFa94
3-40A 277796 | X7 AT EUT) 1 1| 41A~ 48A 794 20203 A~6 B
3-41A 277797 | 04 1 1| 20203 A~6H
3-42A 277798 | 419 Z9YAVMNTEYT) 1 1 | 44A ~ 48A79L 20203 A~6 B
3-44A 279577 | 1-F7t€V7Y) 1 1 | 45A46A 79k 20203 B~ 6 A
3-45A 278755 | 730 %%v7 1 1| 20203 H~6A8
3-46A 278756 | 799 1 1| 20203 A~6H
3-47A 278752 | ¥¥v7° 1 1] 2020F38~6A8
3-48A 278754 | F1-7 1 1| 20203 A~6H
3-54A 263804 | )-F 1 1| 20200 38~6A8




T>=>z

JC264DX/3C264DXL

4. UOAIAREY—4




A:JC264DX B:JC264DXL

RIHEE HRES R B " =
4-1 282404 | YIMWRI-4T €7 1 1] 2~11794
4-2 282405 | A3—4T7+Y7") 1 1| 3~10794
4-3 283411 | Y=l 1 1
4-4 283412 | hA7°L—b 1 1
4-5 280930 | #unN=-R7WUY 1 1
4-6 280931 | ANATNART YUY 1 1
4-7 267213 | ¥YbRYY)2 1 1
4-8 280932 | O-7'7tv77) 1 1] 910794
4-9 280933 | A4—40-7° 1 1
4-10 267219 | R4-4)7" 1 1
4-11 280934 | 7=TtU7Y 1 1
4-12 280489 | $AA%Y (HWSW 2 2 | M4x20
4-13 269833 | $AI%Y (HWSW 1 1 | M4X16WSW
4-14 272207 | 381 1 1| 3939989 R 249—h

_10_




T

5.%xvJLA. T70)—

JC264DX/3C264DXL

_11_



A:JC264DX B:JC264DXL

RIHEE HRES R B " =
5-1 273708 | ¥¥7LAT €7 1 1| 2~157244
5-2 281597 | KY7 K74 1 1
5-3 262991 | N—=VIR'TA 1 1
5-4 262992 | K'Y hin— 1 1
5-5 261874 | 734~ 1 1
5-6 283905 | #'4Y774 1 1
5-7 262993 | H"AHYH 1 1
5-8 262994 | #'4¥774 1 1
5-9 282576 | h"AYh 1 1
5-10 285030 | ¥'IYh 1 1
5-11 261871 | Oy 1 1
5-12 261876 | Yo’ 1 1
5-13 261658 | A4A'N 1 1
5-14 264682 | 2411 2 2
5-15 262996 | 29Y1 4 4
5-16 261864 | N A7 1 1
5-17 246909 | 7—A7tU7") 1 1
5-18 269030 | ILAUh 1 1
5-19 281777 | $A 2%y (HWSW 2 2 | M5X55WSW-7T
5-20 246623 | H)—Thin'- 1 1
5-21 269031 | 2911 1 1 | M5X12
5-22 273735 | AU9TEU7Y 1 1| 23~ 337244
5-23 273467 | 71-IL4VY 1 1
5-24 275306 | AU9¥¥V7TEYT7) 1 1| 25794
5-25 274875 | NYEY 1 1
5-26 261696 | 7749347 1 1
5-27 265752 | *U)AINATTEYT) 1 1| 28 ~ 33794
5-28 264031 | N479347 1 1] 29~ 31794
5-29 261115 | 7'Ax9b 1 1
5-30 261690 | *VYAYNAT 1 1 | 160L
5-31 263038 | A—n70-N47 1 1
5-32 277887 | 24MATHEVT7Y) 1 1
5-33 261117 | 997’ 1 1
5-34 269828 | TATIRY (HW 2 2 | M5X16W
5-35 281208 | TA2%Y (W)W 1 1 | M5X16W AY%
5-36 281596 | A1 1 1| 39

_12_




JC264DX/1C264DXL
6. {JEam

_13_



A:JC264DX B:JC264DXL

RIHEE HRES R B " =
6-1 221460 | K3 A% 1 1

6-2 220534 | hYnhn— 1 1

6-3 210418 | IVERWIRANT 1 1

6-4 022865 | YIAVYFANT 1 1| 8X10

6-5 219431 | 6 h9RIANT 1 1| ZAunn' 3

6-6 242339 | M)7Yh{EYIMY3 1 1 | JC234-264DX/DXL

_14_



eco
©

EHENEETY

AKX
EsEHERRO
Ly FE—- b 42— EE 0120-898-114
ZFIFARER: AN9:00~PM5:00(t+. H.#1B %k <)

Printed in japan 2020-07.J




